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LEARNING OBJECTIVES

1. Explain how a market reaches its equilibrium price and
guantity

2. Discuss the effects of price ceilings and price floors

3. Show how shifts in supply and demand affect a market’'s
equilibrium

4. Solve problems involving market equilibrium
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PUTTING SUPPLY AND DEMAND TOGETHER

When a demand curve and a supply curve are placed on
the same graph, the place where they intersect is called
the equilibrium point.
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EQUILIBRIUM PRICE AND QUANTITY

* The price that brings the market to equilibrium is called
the equilibrium price.

- The quantity that is both e
demanded and supplied e Supply
at the equilibrium price Cauibrium /
is the equilibrium quantity. . | N oLovittriumn

- Markets tend to gravitate / \
toward their equilibrium 5 Demand

.
|
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SHORTAGES

Price

*  When the going price IS er
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their prices, moving the
market toward equilibrium.

« As the price rises, the horizontal gap between the supply
and demand curves narrows, and the shortage Is reduced.



SURPLUSES

Price

*  When the going price is er
above the equilibrium \

price, a surplus occurs. §140} - e \W/
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market toward equilibrium.

* As the price falls, the horizontal gap between the demand
and supply curves narrows, and the surplus is reduced.
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MARKET PRICE AND EQUILBRIUM PRICE

« The price currently charged in the market is called the
market price.

* Firms’ natural responses to shortages and surpluses
push the market price toward the equilibrium price.

* Once equilibrium is reached, there is no further push Iin
prices unless there is a change in supply or demand.

« Knowing that markets will gravitate
toward equilibrium allows us to know

how a change in supply or demand
affects the market.
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THE WATER-DIAMOND PARADOX

A relatively small supply of diamonds leads to a much
higher price for diamonds than for water, even though
water is essential and diamonds are not.

If water were in short supply, its price would also be very
high.

(a) The Equilibrium Price and Quantity of Water (b) The Equilibrium Price and Quantity of Diamonds
Price Price
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| Demand | Demand
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PRICE CEILINGS

Sometimes governments control prices by putting upper or
lower limits on them. These are called price controls.

* A price ceiling is an artificial upper limit on the price of a
good or service. To have any effect, price ceilings must be

Price

set below the equilibrium price. or

* Price ceilings are used to make R / N
orices for things like food and N / \
nousing more affordable. i oemend
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* An effective price ceiling results in a permanent shortage.



PROBLEMS CAUSED BY PRICE CEILINGS:
BLACK MARKETS

* A shortage means that there are customers who are unable
to purchase a good and are willing to pay more than the
going price.

« This can motivate some sellers to charge prices above the
price ceiling in an illegal market known as a black market.

Visualize a house below the

« Black markets emerge when there are V= x::s,:m
price ceilings and when the sale of a / \/
good or service is prohibited. | L

\\ 7 Pr»ce ew \DMd
 For example, black markets are common * | _ Ly

when sports teams cap ticket prices. \y
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PROBLEMS CAUSED BY PRICE CEILINGS:
QUEUING COSTS

« Shortages cause consumers to end up standing in line to
buy goods. The value of the time that customers lose by
standing in line Is a queuing cost.

* Queuing costs can be minimized by rationing out the
available goods.

« Two methods of rationing are lotteries and rationing
COUpOnS “GQ’\J : f-e!ﬂf i

« Rationing coupons were used by the
government during World Wars | and |l
to ensure that goods were distributed
appropriately.

ClassicStock/Alamy stock photo



PROBLEMS CAUSED BY PRICE CEILINGS:
INFERIOR QUALITY & INDUSTRY DECLINE

Excess demand reduces the incentive for firms to maintain
quality.

* A price ceiling on rent enables landlords to rent out poorly
maintained apartments, taking advantage of the shortage.

« High prices motivate firms to produce higher quantities, so
lower prices, such as those imposed by price ceilings,
motivate firms to produce lower guantities.

« Malaysia discontinued a price ceiling on cement in 2008
because not enough cement was being produced, slowing
development projects.
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PRICE FLOORS

« A price floor is an artificial lower bound on the price of a
good or service.

« Governments impose price floors to assist workers or

Industries. piea
tire) \ /supp|y
- To have any effect, a price $120 . Frce foor
100 ...................... . uilibrium
floor must be set above the 7 %
equilibrium price. 18
: Demand
. . 0 4215 560 6(l)0 . Quantity
*  The most prominent price Suplat (P
. . . price o
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designed to assist low-income workers.
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PRICE CONTROLS AND DEADWEIGHT LOSS

PART |

Price controls lead to inefficiency In
markets.

The first graph shows consumer surplus
and producer surplus in equilibrium.

When a price floor is introduced, as in
the second graph, some consumer
surplus is converted to producer
surplus, and some consumer and
producer surplus are lost.
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PRICE CONTROLS AND DEADWEIGHT LOSS

PART Il

Deadweight loss is the loss of
consumer or producer surplus caused
by an inefficient quantity of output.

The third graph shows how a price
celling converts some producer surplus
to consumer surplus and how some
consumer and producer surplus are lost
as deadweight.
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LEARN BY DOING: PRACTICE QUESTION 1

Which of these statements are true?
|. Price controls promote efficiency.

Il. Markets reach equilibrium as firms change prices Iin
response to surpluses and shortages.

lIl. Price floors decrease consumer surplus and increase
producer surplus.

a) |l and Il only
b) Il and Il only
c) Il only
d) Il only



LEARN BY DOING: PRACTICE QUESTION 1

(Answer)

Which of these statements are true? Price controls promote
efficiency.

|. Markets reach equilibrium as firms change prices In
response to surpluses and shortages.

Il. Price floors decrease consumer surplus and increase
producer surplus.

a) |l and Il only
b) Il and Il only
c) Il only (correct answer)

d) 11l only
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SHIFTS IN SUPPLY OR DEMAND

* When supply or demand changes, so does the
equilibrium point.

 You can track
the equilibrium
point for a good
or service to
earn what
nappens to Its
orice and
guantity.
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AN INCREASE IN DEMAND

Anything that increases the value of marginal utility will
result in an increase in demand.

* An increase means that more is demanded at every price,
iIncluding the old equilibrium price, so a shortage results.

Price
»  The shortage puts upward SN sk
pressure on the price until a new 520\\ _____ e./
equilibrium is reached. e IS 7%‘2@&
« Anincrease in demand causes §\D;miiff"d2
both the equilibrium price and i 222 e por o

price of $100

th e eq u I I I b rl u m q u antlty to I n Crease . Anderson, Survey of Economics, © 2019 Worth Publishers



A DECREASE IN DEMAND

* Anything that decreases the value of marginal utility will
result in a decrease in demand.

* A decrease means that less is demanded at every price,
iIncluding the old equilibrium price, so a surplus results.

Price
(per

N\ * The surplus puts downward
k\!\ /S“PP'Y pressure on the price until a new
| — .\\;.E equilibrium is reached.
Noeans,  * A decrease in demand causes
0 i Dwes both the equilibrium price and
Quantity
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AN INCREASE IN SUPPLY

Anything that decreases the marginal cost of production will
result in an increase in supply.

— New technology often reduces cost and increases supply.

* An increase means that more is supplied at every price,
iIncluding the old equilibrium price, so a surplus results.

Price

e The surplus puts downward tre) N
pressure on the price until a new 3
equilibrium Is reached. /

1$100 ..................... .\E1
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A DECREASE IN SUPPLY

* Anything that increases the marginal cost of production will
result in a decrease in supply.

— An import tariff is a tax on goods or services purchased
from another country. Import tariffs increase the cost of
selling goods made in another country.

* A decrease means that less is supplied at every price,
iIncluding the old equilibrium price, so a shortage results.

Price
Supply,
e * The shortage puts upward pressure
&/ on the price until a new equilibrium
O.E:

(per tire)
T 511140 ................... .

s°°/ IS reached.
s20{ * A decrease in supply causes
¥ Demand the equilibrium price to increase and
0 457.25 500 Quantity

~  wepersay  the equilibrium quantity to decrease.
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WHEN BOTH THE SUPPLY CURVE AND
THE DEMAND CURVE SHIFT PART |

When both curves shift at once, the effect on either the

equilibrium price or the equilibrium
the effect on the other measure de
size of the shifts. Price

When the supply increases

and the demand decreases, fmo
as shown here, the result 68
could be anywhere in the

shaded area.

0
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In this case, price will definitely decrease, but how the

guantity changes is unclear.



WHEN BOTH THE SUPPLY CURVE AND
THE DEMAND CURVE SHIFT PART I

 When both curves increase, as shown here, the result
could be anywhere in the shaded area.

Price

(per
metric

* The quantity will definitely Lo of A et
Increase, but how the price \ 7

changes in unclear. 119

Demand,

- Double shifts usually require 0 [ e
two separate influences. T pemilions of

coffee per year)
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 Be careful not to shift both curves as the result of a
change that really affects only one curve.



LEARN BY DOING: PRACTICE QUESTION 2

Suppose that increased littering causes tires to get holes
(from nails and other road debris) more often. What effect
would this have on supply and demand for tires?

a) Demand would increase.
b) Supply would increase.
c) Demand and supply would both increase.

d) Demand and supply would both decrease.



LEARN BY DOING: PRACTICE QUESTION 2
(Answer)
Suppose that increased littering causes tires to get holes

(from nails and other road debris) more often. What effect
would this have on supply and demand for tires?

a) Demand would increase. (correct answer)
b) Supply would increase.
c) Demand and supply would both increase.

d) Demand and supply would both decrease.



